N & o & AF & H Al A
20143 & =04 LBHSIH =222t
M S22l
M &2 Ot &5
Eel: E2 e - &5 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Sl 4,548,588 5,061,385 AB12,797
Al 425,000
T 4,123,588
T2 oluet &= 4,409,931 4,928,615 A 518,684
Al 425,000
- 3,984,931
CE2 L - =S 19,380 676,240 A 656,860
122244 Sg2a 19,380 49,240 A 29,860
203 YR =] 2,640 3,240 A 600
03 AIZ=XH 2 =AH| 2,640 3,240 A 600
NE2WE g2F 220,000& 1201 & 2,640
301 L2 A= 3,240 6,000 22,760
11IIEEAS 3,240 6,000 N2,760
sz =g 100, 000& x3H *123] 3,600
)0l & E 2t 3,600,000& »—=10% A 360
305 Hal=2 s 13,500 40,000 226,500
01 Hia=s 13,500 40,000 A 26,500
NREYIS3 ¢ &oalha3 15,000, 000& 15,000
1ol & A 2t 15,000, 000& *=10% A 1,500
S=2AE 2tel 2,330,153 1,922,920 407,233
Al 425,000
- 1,905,153
2.S2A4dE &2 429,988 597,956 A 167,968
101 @14l 109,264 131,116 A 21,852
04 D12t Z22HEE = 109,264 131,116 A 21,852
nies 109,264
2)ele e 60,0003 x222 «5H x 10 66,000
2)=¢ 30,500
)FRr¢ 60,000 *4 L x5H « 10 12,000
NEAXY 60,0003 12 «5H 102 3,000
3)3 Al 100,000& x5 »10& 5,000
3w Sl 60,0003 «5H «102 3,000
N=ESE 50,0003 «5H =108 2,500
NAE Y 50,0002 *5H 10 2,500
)R Mg 50,0003 «5H =102 2,500
24U BE =S 96,500,000 *12% 11,580
2)BIQYBEER 96,500,000 *2.9%*6.55% 184
2)Il=dl 1,000
JNEF=(F6=) 100,000 5H 500
3)22 30,000& x5H 150
NEI(E) 10,000& 5H 50
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EX: 2221
HEM: g 0T &5
et SRAE B2 (29l & 2)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
3) &gt 60,000& x5 300
203 YR =&Y| 3,456 4,320 N\ 864
03 Al =X H 2 =X Y| 3,456 4,320 864
NEZAIES2E g2 288,000& x12& 3,456
401 Al HI YL 2 0HHI 317,268 462,520 AN 145,252
01 A& HI 315,000 460,000 A 145,000
NEZAIE2 &l 350,000
)EZALEE SANE =T AH(HAZED})
350,000,000 350,000
1)0f &FE 2E 350,000,000& *~10% A 35,000
03 A& 2 0HbI 2,268 2,520 N\ 252
DAIE 201l 350,000, 000& x0.72% 2,520
1)0 AFE 2 2,520, 0003 *—10% N252
3.EEETZ 22| (AMHIEX) 1,900, 165 1,324,964 575,201
Al 425,000
- 1,475,165
201 L2 Y| 1,188 1,400 N212
02 352494l 1,188 1,400 N212
NEZEX2 HHl |X2eld] 1,250
2)A8 BY0lA 200,000& = 1CH 200
2)2EWE 200,000& = 1LH 200
2) 2 E DI 150, 000& = 1CH 150
2)2& D] 100, 000& *1CH 100
2) = HE )| 200,000& = 1CH 200
)X A X2 50,000 83 400
)0 A= 2 1,250,000& *x~5% NB2
203 ¥R =&Y 3,456 4,320 N\ 864
03 AIHZ=XIH R =X 3,456 4,320 N\ 864
Nz e =4 288,000& = 12& 3,456
206 M = Hl 31,185 38,650 AT ,465
01 M= bl 31,185 38,650 AT ,465
N2 B=XHP L 34,650
2) Kkt 22,000& 200 m* 4,400
2)2 el 22,000& *200 m* 4,400
)B4+ 11,000& *1,580CH 17,380
2)ANHE 4,900& *300 X CH 1,470
2)NAEE S 7,000,000& 7,000
1)0 A2 34,650, 000& *-10% N 3,465
401 Al HIL 200 1,864,336 583,742
425,000
1,439,336




EX: 2221
HEM: g 0T &5
SR T 2AIAE 22 (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 A& HI 1,857,800 1,276,000 581,800
NEHEZ RSB =2 AH(AZ2ED})
800,000,000 800,000
NSRS 204-3282 0 =2 M A 2 5HA(F
Z0od 0l &) 662,000, 000& 662,000
NAE S 266-7~312-9 2 20H A (Al & O 0l AF)
425,000,000& 425,000
Al 425,000
N=Z2HEHH 2 A 130,000
)2 24 SZHHESFY| 14
130,000,000 130,000
1)00 AFE 2 1,592,000, 000& *-10% A 159,200
03 Al&E 201 YI 6,536 4,594 1,942
DAIE 20| 2,017,000,000& *0.36% 7,262
1)00 AHE 2 7,262,000 *-10% NT26
T2 H&E 22 299,279 341,221 N41,942
4. T2 M4 A= (AMHIEXR) 90,000 100,000 A 10,000
307 212t01 & 90,000 100,000 A 10,000
05 A2t &2 90,000 100,000 A 10,000
DHEHz HAE 100,000, 000& 100,000
)0 &= 2 100,000, 000& *=10% A 10,000
5SS 2 (AMHEE) 209,279 241,221 ~31,942
201 LEt2 Y| 40,889 56,271 N 15,382
01 A2 22| bl 25,052 39,601 A 14,549
1)L et 2H| 4,390
2) el M HI 1,000
MAEUH= HE A 1,000,000 1,000
)M A A EA 2| 270,000& x4 & 1,080
2)3E2H & 22 2,010
NMAEUHE ZeIH=(HAITH)
77,000& =104 770
NMEUH ZoE (M)
35,000& *20IH 700
)M AEs AEIHA 2,000& %2701 540
2)A282 22 FMH(ER,1E)
300,000& *1HI E 300
DHEZI2H S| 20,300
2) T Al 2,800
3)0F2 22X 7,000 x2A] x2H x80 2,240
NSYF2AZ22X 7,000 x2H x40 560
2)H| A2 2 Al 17,500
3) 1S3 7,000& *9! x100H 6,300
3)2&H A 7,000 *4 %200H 5,600
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2N
X ZH -
L= B

el

M- BB (BH) - NEAY - BaS ofl &t o SSa HDE2
3)3CHH 7,000& *2 *400H 5,600
NDHEHHRA 1,680
2)gstE 29l 120,000& *14H 1,680
1)l AFE 2 26,370,000& *—5% N 1,318
02 3524t 15,837 16,670 A 833
DHE&H 122 S 16,670
2)E St S AT 300, 000& +36CH 10,800
)02 2 22 Xt 700,000& *3CH 2,100
Q)A0IEZE S4I2 60,0003 *4CH x12& 2,880
)M A S R HR A AE(GPS) SEAE
6,300 x7CH x12& 530
2Q)MESEAAE 90,000 4 360
1)0l AR 2E 16,670,000& *-5% A 833
206 M = Hl 168,390 184,950 A 16,560
01 XHZ Hl 168,390 184,950 A 16,560
DHAERM FHI 165,200
2)h st s 210,000 480 100,800
2) A2 100,000& 400 40,000
2)& 8t H H A H 410,000 *40& 16,400
WA= AN 200& =40, 000L 8,000
DHAE XM P2y 21,900
2) Ml A XHIH 2 2+t 200, 000& =404 8,000
2)<= JkeH 5,000 x40 150 = 3,000
2)M(E ZUME e
8,000 x200 150 = 2,400
2)& (M &g 8,000& *350H 2,800
)8 X2 5,000 *3001 150 = 2,250
) (MEMEZE) 220,000& 104 2,200
Q)M E(HENE2E 50,000 *25H 1,250
1)0l AR 2 187,100,000 *—10% A 18,710
T2XY 2te 1,761,119 1,988,234 N227,115
6.Iot2S 22l 816,264 916,233 AN 99,969
201 2ot 2 Y| 477,881 491,059 A 13,178
01 At 22l ] 1,386 1,940 A 554
1)1l =l 1,458
QJEZXUALE B2 1,458
NHP=E(s=2) 150,000& *7H 1,050
3)ot& 5t 50,000& «7H 350
3)HZEY 2,230 *x26= 58
1)0l AR 2 1,458,000& *—5% NT2
02 3524t 476,495 489,119 N 12,624




N

HU HU HU
o
|

]
all
H_rg\::'

gl

OD

I

oo
Ot

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
N2 2 MA 496,183
2)JI2s HIZ(HLSZ 1,250kw) 494,023
NJIE= 5,970& *1,250kw* 122 *110% 98,505
INE2
81.5& *817kw*15n*30L x 12& 110% 395,518
2)I2E PHAIAA AIAHE 2,160
NSz 180,000& x12& 2,160
1Al & ZHl S Xl 5,390
2)0| EX(EE2xLE) 500,000 = 1CH 500
2)8FHI(0IZXA) 50,0003 10~ 12& 600
22 2 BotE HEIZ Hel =42
1,300& *3,0002H4 *110% 4,290
1) 0l AR 2E 501,573,000& *-5% N 25,078
206 M = Hl 113,383 125,174 A 11,791
01 X2 bl 113,383 125,174 A 11,791
N2 125,981
)N ES EHT 43,146
3)70w 15,900& *1,374S*36.5% 7,975
3)200w 25,000& *1,292&S *36.5% 11,790
3)350w 27,000 *900S *36. 5% 8,870
3)COM70W 29,000& #2525 *36.5% 2,668
3)COM100W 38,000 106 S *36.5% 1,471
3)COM150W 66,800& 2165 *36.5% 5,267
3)CDM200W 74,000 189S *36.5% 5,105
2)H E &0l EQHA D 13,643
3)70w 14,500& *1,374= *10% 1,993
3)200w 39,500& *1,292& *10% 5,104
3)350w 40,6003 *900S *10% 3,654
3)COM70W 39,500& #2525 *10% 996
3)COM100W 45,4003 *106S *10% 482
3)COM150W 33,900 %216 *10% 733
3)COM200W 36,000& *189& *10% 681
2)SJ1F A 66,000& *4,446S *3% 8,804
2)2HE WA 20,000& *4,446S *10% 8,892
)22 MA 1,220 x10,000m*4 D} & x5% 2,440
Q)8 ASE =4 412, 000& %214 ™ x5% 4,409
2)J|Et B2 2 =3
10,000& *4,446 S *30% 13,338
)X & HH| 2,926,000 x214 24 x5% 31,309
1) 0l AR 2E 125,981,000*%-10% A 12,598
401 Al HIL 20| 225,000 300, 000 A75,000
01 Al&HI 225,000 300,000 AT75,000




2AN: el
B Tz om &
2xy zel CR-ED
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
NeE2XH 250,000
2)E2EY Al U 2 A 2HED})
250,000, 000& 250,000
1)0 AHE 2 250,000, 000& *—10% A 25,000
2ots &e| 817,119 921,627 AN 104,508
201 et A | 387,137 380,775 6,362
02 3524l 387,137 380,775 6,362
1N22e2 ¥ 373,552
2)BoS HIIZ2(HLESH 794,926w)
35.6& %794 ,926wx 122 *110% 373,552
1Al & ZH| S Xt 33,960
2)B SOl 2 A AE S22
300,000& x12& *110% 3,960
2)E0tE otA =2 30,000,000 30,000
1)0l AR 2E 407,512,000& *-5% N20,375
206 M = Hl 168,982 190,852 N21,870
01 XHZ I 168,982 190,852 N 21,870
Neots 187,757
2QJLLES&! D 19,198
3)50w 9,000& 4,087 %27 .4% 10,079
3) 100w 9,800 *3,058S %27 . 4% 8,212
3) 150w 10,400& *318S %27 . 4% 907
)0 eS| EH T 11,085
3)70w 15,900& *1,910S*36.5% 11,085
2QILLESOHH 11,558
3)50w 15,000& *4,087= *10% 6,131
3)100w 15,800& 3,058 *10% 4,832
3) 150w 18,700& *318S *10% 595
2) Ml €& et ol A | 2,770
3)70w 14,500& *1,910S *10% 2,770
2Q)NsSEEII 55,200& *9,252S *20% 102,143
2)SII7 A 37,800& *9,252S *3% 10,492
2)2HE WA 10,000& *9,361S *10% 9,361
2)0IEtE4+=2 I 2 23
15,000& %4, 700 *30% 21,150
)0 A= 2 187,757 ,000& *—10% N 18,775
401 Al HI L 2 0HHI 261,000 350,000 A 89,000
01 A& HI 261,000 350,000 A 89,000
NE2XH 290,000
2)2LH EOotS AH|ZAHH2EEDL)
290,000, 000& 290,000
1)0 &HE 2 290,000, 000& *—10% A 29,000




g 2z tel &)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
8. XI5t & 2el 127,736 150,374 N 22,638
201 LBH2d| 120,812 141,669 AN 20,857
02 8322l 120,812 141,669 AN 20,857
1N3323 £ HA 59,960
Q) NSHEXNE MIIZ(HASS 127kw) 59,576
Ne= 5,970 x127kwx 10 » 110% 8,341
INEE
81.5& x127kw*15h*30! * 102 *110% 51,235
Q)ZEUHEEEW 52| 384
) R=RaK=1 32,0002 128 384
DAE &Hl X 67,210
2)2E U HEY XSiEE BOIAL e
2l i 3,200,000 *12& x110% 42,240
)L A Xt S E/SEHl |Xl&el
200, 0003 *4CH 10 *110% 8,800
2EUPERD S2J| L4 ST 89
210,000& *2CH » 10 *110% 4,620
2)NGHEXE &HH A&l
1,000,000 *7H A 7,000
2)ZHAE B Y HASS
20,000& »216m 4,320
2)230 BN L A0 23,000 =104 230
Dol E 2 127,170,000 & *-5% A 6,358
206 M= Hl 6,924 8,705 21,781
01 MHZ 4l 6,924 8,705 21,781
NAGIEXNEZHE 7,693
2)8 23 I (FUL 20W) 3,350 x140S *250% 1,173
2)8 2@ I (FPL 32W) 3,260 x120S *250% 978
2)S & I (FPL 36W) 4,590% *89& *250% 1,022
2) 0l EH & I (70W) 15,9003 36 S *36.5% 209
2) 0l £ 84 I (200W) 27,5003 *130&S*36.5% 1,305
2) 0l £ & = (350W) 28,0003 x6S+*36.5% 62
2)8 S oHEI|(FPL 32W)
13,500& x124 S *10% 168
2)EBS oHFII(FPL 36M)
17,500& x104S »10% 182
2)Hg o+&E I (70W) 17,500 *36S * 10% 63
2)0e o-F Il (200W) 44 6002 *130S *10% 580
2) 0l & oF & J1 (350W) 46,9003 «6S *10% 29
2)CH20IESIIF A 40,0003 1685 *10% 672
2)8 &SI WAl (FPL36W)
100, 000& *807H = 10% 800
2JEtE=E2NH ¥ 332
10,000& * 1505 *30% 450




SA E222 D
HmM: 2 0Ip &5
ool C2EY e (er9:®e)
SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
| | | DREED 7,693,0002! *-10% AT69
HESAPH (2 2el) 138,657 132,770 5,887
gy (T2l ) 129,444 122,400 7,044
o egH(za2eln) 129,444 122,400 7,044
101 @124 | 129,444 122,400 7.044
03 RINHA2Z2RES 129,444 122,400 7,044
1)1=2 2,180,5008 x2% 12 52,332
NaNH2 8,732,0002 *2% 17,464
=2l s M| 18,122
2)2 Al 100,0002 x2% * 12 2,400
2) 04 110,000 x2% * 128 2,640
2)Y = Sty 2,180,500 *150%+*2 6,542
2)HH X 2l 3,270,0002 *2% 6,540
NELN224¢ 4,080
PRSPy =t 70,0008 +22 * 12 1,680
2)9 A gt 50,0002 *22 122 1,200
2)H e &Sy 50,0008 +22 *12 1,200
NEamac 80,0002 *22 x 122 1,920
N=s4g 1,680
2)BH 2 Xt 40,0002 *22 x 122 960
EI=IDE] 20,0008 +32 *12 720
DESE=ICEN= 15,516
2)AXNRSENSY 93,4702 *2 2 x20L 3,739
UL 140,20091 * 12 x2 % * 12 3,365
)AL 22 17,5252 x20h*2 * 12 8,412
D=L 10,0002 ¥25] x2 40
DEEIRLE= 25,000 *2% 50
DER<ER= 50,0002 * 122 600
DEELIPNES=E 111,756,000 +2. 5% 2,794
Naes2 114,550, 000! *12% 13,746
12422 &bl 200,000 *2% 400
1)1l =t 700
)HA=(S2) 150,000 2 *2% 300
2) R = (5t=) 100, 000! *2% 200
2)29 30,0002 *2% 60
2) & 5t 10,0008 *2% 20
2) = e 5 60,0002 *2& 120
Jl2RH(E222| D) 9,213 10,370 ~1,157
10220 (=222 ) 9,213 10,370 ~1,157
201 Lt 5,433 6,536 A1,103
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